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Instructions:

1. All Questions are Compulsory.
2. All Questions carry equal marks.
3. Figures to the right indicate full marks

Q.1 A)Choose the Correct alternatives from the following. 10

1

According to Census 2011, which union territory has the highest population growth rate between 2001
to 2011? A) Daman and Diu B) Delhi C) Dadra and Nagar Haveli D) Puducherry

2 is main reason of increasing Indian population.
A) High birth rate B) Low birth rate C) Constant birth rate D) Negative birth rate
3 - is per-day calorie estimate of poverty for urban economies.
A) Less than 2400 B) Less than 2200 C) Less than 2100 D) Less than 2000
4 According to--------- lack of effective demand is the main cause of unemployment.
A) Keynes B) Ricardo C) Smith D) Marshall
5 e is reason of economic inequality in India.
A) Government Policy B) Money lending System C) Faulty Agriculture marketing System D) All of
these
L are the indicators of regional imbalance.
A) Per Capita net State Domestic Product B) Growth rate of State Domestic Product
C) Trends in investment and financial assistance D) All of these
7  In India Economic Planning was started in -------------- year.
A) 1951 B) 1952 C) 1947 D)1991
8 e is the author of a book “famine and poverty”
A) Amartya sen B) Gunnar Myrdal C) Mahbub ul Haq D)Douglas W. Diamond
9  The proportion of world population living in India’s percentage is ------------
A.15.5% B.12.5% C.17.5% D.20.5%
10 From ----------- plan an importance given to Inclusive Growth in India.
A) Twelfth B) Eleventh C) Ninth D) Tenth
Q.1 B) Write answer in one sentence. 10
1 Which planning is a result of sectoral disequilibrium?



Explain the meaning of sustainable development.

What is poverty line?

When was the Nehru Employment Scheme launched?

Explain the meaning of social inequality.

What percentage of India's total population lives in Uttar Pradesh?
What is national income?

When was family planning program started in India?
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According to the 2011 census, India ranks in the world in terms of population?
10 Who is called illiterate?
Q.2.Write short Notes (Four out of Six) . 20

1 Problems of Structural Changes

2 Demographic dividend

3 Causes of unemployment

4 MANREGA.

5 Nature of India’s Economic and Inequality.

6  Nature of India’s Social Inequality.

Q.3.Write short Answers (Two out of Four) . 20

1 Describe the Structural Changes in Indian Economy.

2 Explain the importance and limitation of Human development index.
3 Discuss the measures of poverty eradication.

4  State the causes of Social Inequality in India.

Q.4.Answer the following question on broad. (One out of two). 20

1 Explain the Causes of growth of population in India.

2 What is Poverty ? Explain the causes of Poverty.



WIS TR

L G LHE
1. 94 Uy Aisfavt sif-rand ag.
2. 94 UHTHT U 0T 3ATed.
3. Soldim eI 3id quf Iur gRifadrd.

Q.1.A)ETel fectear yaiais o yaty fAasT.

1 082 TTSHIUMTER, 2001 d 2011 GREI HIUIT SR TCRITAl AldhSe aTe al &R
AT 3HTg?

3 e ST dla &) il &) ey 3o TR gaelt ©) ggadt

3) I TR ) HH! SGR B) FRR TR 8) BUNHD SIaR
3 gIRey YoaTeld Ufa-feaw Iwidm Xedt Sriaw™ra! - - e g,
3f) R¥oo U HH! &) 3300 UG HH! ) 300 Y&IT HHI ) 000 UG HH!

4 <1 Hd GHTA! HATTTET S{HTT § SRISRTRTY U@ HRUT 378,
3 H ) Ro1sf &) Ry 3) Areia
5 HRdda e favHad SR - 3T

31) AT XSTg. edes JeTe o) ST IeTeT=l Gl &X ) Tciauyep A0 fawitg
R UgT 8) aRid 9d

31) 15.5% §)12.5% B) 17.5% ) 20.5%

10 YRAT —enememmmmmmem AISHURET THIARIS J4 T ISP Hed quard 3T,
3f) TRTSAT ) 3fHTST ) I T) SBTH]

Q.1 B)USHT TeRITd 3<X fergT.

1 pivr FaeEr fauria s/adid g wicd simg?
2 zyd fqerarar o |,

3 IR BU ®1a?

4 g% AR Aol h gl Y= HRUATd STl

5 oI fawmder erf |,
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10



6 YRATA THUT AU fohcll T Aamae 3Tk U RITd Jgd?

7 AP I WU B2

8  PHcd AoH HRIHH HRAI Bogl Y& HIUATT STaAT?

9 T 0% AT FFUHTHR HRATH dldba-eI=T dTelciid SRTTd fabdal shiics aRTar?

10 fARER HIUMY WGUrAra?

Q.2.¢ur ferg. (Wt U} HIvTds! 9w). 20

1 IREATHS dedrdl Jagl

2 il ARl

3 SRIGARIE RO

4 TERT

5 YRAKd e faordd ey

6 YR raTe faudd Wy

Q.3. Y IsHITd I forgl. @R U S ). R

I YR eI SRaE® 96d [dR1G B

2 Al faere RéerieTe Agd Sftr Hafer Wy o,

3 g Fdaren Suri @i B

4 YRdrdid i favaddt SRU GRT.

Q.4.9f3%R IR foreT. GH o vs) . R0

I YRAT A gaid! BRI T HI.
2 qIRE U ®1? GRS HRO WY AR,
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Option 2
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Option 1
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Q.1 B) U1 qraTd I fergr. 10

1

P! AR fAHTTT SHdid § Wierd 3?2

Ans:

Sectoral disequilibrium is a result of faulty industrial planning.?ﬁWE[Uf 3Menfies e faurfa
[N § Thfeld e,

Ty AT 3 i,
Ans:

Sustainable development means sustainability of satisfaction and improvement in the standard of

g%nannfeﬁwa%mﬁwm&nﬁrma%ﬂwmhgwéﬁ%ﬁW%ﬁw

SR XN 0TSl B2
Ans:

Poverty line is the limit line of income fixed by the government. Gl X% XS UM ST AR
Sfdeielt wafar X g1,

A% TR o] gl Y= DHRUATd Tl
Ans:

Nehru Yojana was launched in the year 1989.4 1989 T AgE ISl = pUY[d I
QAT fasda o .

Ans:

Disparity in status and development among different social groups means social inequality.f‘l\-lﬂ

TATT TTeid goll g fapram favHdr reurs IS fawwar g,
YRATHT TGl AIh S| [t cddh didaRedr 3R HeITd I18d?
Ans:

16. 2% of the total populatlon of India resides in the state of Uttar Pradesh. HRATHT UH T
16.2 % AIHEBAT 51 JTR UG ATd 8.

RIS I U B2

Ans:

National income is the sum of money values of goods and services produced in an economy during a

particular perlod SrfraRydia fafkiy eraderd Fufor grom= aﬁiﬂTﬁT REIEIRRIGI H\Ffﬂiﬁ
SRS IS AP I B9

F¢d Ao HRIHH YRATT HgT Y& HRUAT HTAT?
Ans:

Family planning program was started in India in 1952.99 R4 T YRATd W faeH Hrisy
g DUYTd 3T,

T 028 AT THUHTIR HRAT AT dTadd ST fdbadl i ARTdN?
Ans:

According to the 2011 census, India ranks second in the world in terms of population. g 0% AT



10 fReR PHIuMY Forard?

Q.2.&\ur fereT. (9T 99 FIvaEl TR).
1 IREATHS dGarA JH-T
Ans:
2 AHETE AT
Ans:
3 SRR SR
Ans:
4 HERI
Ans:
5 HRda e favmad @y
Ans:
6  YRAKd e [Auddd Wy
Ans:
Q.3. UIsTd I forgl. (AR Ul HIvagl ).
1 YR srfcradia Gares ded fagre &,
Ans:
2 g4l faem FdRiieT Agd ST Hafer Wy &Y.
Ans:
3 qIRE e Ut == o,
Ans:
4 YRS AT f[ISHd SR i,
Ans:
Q.4.9faaR IR fereT. (@ At uwp) .
1 YR Abae Jgidl BRI TF .
Ans:
2 IR U ®1? SIRGRT SR WY H.

Ans:

Not being able to read and write means illiterate. [TfgdT araar 7 J0) WU fAR&@H T 1.

Ans:
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